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1. A fair die is rolled 14 times. Let X be the
number of faces that appear exactly twice.
Which of the following expressions appear

Lot o\a in the calculation of Var(X) V'( X[b@
5\""" ’% (5,210) (1/6)%(1/6)%(4/6)1°
() L/676/6)° N
c more than one of the above ff.z_‘: 2 ‘m‘;&-c:
d none of the above 2\0 elie_
Nb-lc o .
= SR S {per
Apv P 444 Bz Usiv)& He é\ e el 37 Lar ke
oo W pll cntlon; elé
picced rule

e P ) Pt e L & 0o
= ((t‘i)(/é? (5’) ( ?(/5> ( é)"’ h»ul«\-‘no:t?’Q( Cumvlfe), N
() (O O(‘Z)“

Nar (= W, + "‘("‘" F\z - (f\\))

\ <
ECD 1

€N



AvwosncermaenetD ?

— Midtevn 4 ¢ Wedwesdaw Maveh T
— veview Sheels ank ¥ s\ o wesie_ Soov

—_ \tvf\ clastd f‘C\'}E\k Ff‘s(!aJ/Mon&Qb W-Lg/c_ Jesh-,

Lo -\\mQ <=C 3. p;o\e/\\‘:cq\\ﬁ &x\f}\w*ﬁd
\ovdavee S SWw o\ depenbevt 1A, \dlders *

w I\* +2:
o, = EGS)
B

EMX)= "¢,
N ()2\' V\? - V\(\l\-hF‘z - (‘f\?)

ordayce Er San O Viade \diadors *
N (R= W, nEDdE ‘Q"PS- =NT - nP,L
=" (‘\-Pl)

Tedi

® Sec 3.6 Wyeageo-<t- e Qi
s=c 3N M,\ Obsve ,bv‘-\OV)
@ Cec 3 eqaive Bhomlal diskelboton,




@ el 3 l‘L‘m@v_‘;@f\f\ . Debvibollon
éx

A deck ok Cards Was G *Les.
W= & aces WM N Cwdy ditan Wit re)\agewentr Lrow,)

a Qecxk o N cands,

Aoove N =5

-

ns G
EX)= "¢, n
Nar(Ry= W+ N-DP, ~ Q\Pb

€
D Fk E(K) =T 4 a1, o
T <« N\ M 'Z_“'Dcn.& B us
- o et

Ié'(&:m(.&’)S

LX TS | -
Yok Vo () sy )“9 g b n GE

o EIS‘L

Ve (0= V\Q‘ 4 V\(V\”\‘)Wlt - (WVD )

¢r 82
?nz.=/'° v




- XA He(r N6

X=T v e, Suw ob dependent Ld. indicordors

Eoon Glove

V(¥ = Y\Pl + n(n=1) P‘t = Q\ﬂ\L w-eve_

A woe Uée-cu\ CQWW‘Q Lov \aw CXB:

Sojpoe =N ey

o X=T v X, =6

So \lev ()O =0

=0 NP, + N(v- DV — QM}D
= P = NE, (np, - -

N (o)
Plv& Ars Snds




Var (XY = Ne +nfan) ¥, (vp,-) —'Q\?\
AN

= ‘n“\i\—\* (V\~5 Ny, — l\ - np]
N =)
= nh {0\»-0 - (D [p ) — o (”’ﬂ
ol R AT

)
V\)v./\ Np -l-np

(N -n) (-0

N~ J

CWQ @ \\}Q,G(\ —-;_v\‘sl(\.m Lo Xmg}n(nJ(b

o )(/L*Ua("'“é)
B = " /W
W < n % (1 %) (R
ﬁ H‘

)



1. The population of a small town is 1000 with
50% democrats. We wish to know what
is a more accurate assesment of the % of
democrats in the town, to randomly sample
with or without replacement? The sample
size 1s 10.

a with replacement
@Without replacement

c same accuracy with or without replace-
ment

d not enough info to answer the question
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